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गिणत 
Mathematics 

(311) 

िशᭃक अᳰंकत मू᭨यांकन पᮢ 
Tutor Marked Assignment 

   

कुल अकं: 20 
Max. Marks: 20 

ᳯट᭡पणी: (i)  सभी ᮧ᳤ᲂ के उᱫर दने ेअिनवायᭅ ह।ᱹ ᮧ᭜येक ᮧ᳤ के अंक उसके सामने ᳰदए गए ह।ᱹ 
Note:  All questions are compulsory. Marks are allotted in front of each question. 
 (ii)  उᱫर पिु᭭तका के ᮧथम पृ᳧  पर ऊपर कᳱ ओर अपना नाम, अनुᮓमाकं, अ᭟ययन के᭠ᮤ का 

नाम और िवषय ᭭प᳥ श᭣दᲂ मᱶ िलिखए। 
  Write your Name, Enrolment Number, Study Centre Name and Subject on the top 

of the first page of the answer sheet. 
 
1.  िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.   
  

 िन᳜िलिखत समᲬुयᲂ को रो᭭टर ᱨप मᱶ िलिखए:  

a) A = {x : x एक पूणाᲈक ह ैऔर –3 ≤ x < 7} 

b) B = {x : x, 6 से छोटी ᮧाकृत सं᭎या ह}ै   (पाठ-1 दखेᱶ) 
अथवा 

a) िचᮢ 1 से tan P – cot R ᭄ात कᳱिजए। 
 
 
 
 
 
 
 

b) िस᳍ कᳱिजए ᳰक (sin4θ – cos4θ +1) cosec2θ = 2  (पाठ-2 दखेᱶ) 

Write the following sets in roster form  2 
a) A = {x : x is an integer and –3 ≤ x < 7} 
b) B = {x : x is a natural number less than 6} (See Lesson-1) 

OR 
a) From the given figure, find tan P – cot R.  
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b) Prove that (sin4θ – cos4θ +1) cosec2θ = 2  (See Lesson-2) 

                              
2.  िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.  

a) एपी 6, 9, 12, 15, 18,……, 102 के अंत स े28वां पद ᭄ात कᳱिजए। 
b) 7 से िवभा᭔य 3 अकंᲂ कᳱ ᳰकतनी सं᭎याएँ ह?ᱹ (पाठ-6 दखेᱶ) 

अथवा 
a) ᳰकसी GP के कुछ पदᲂ का योग 315 ह।ै इसका ᮧथम पद 5 तथा सावᭅ अनुपात 2 ह।ै इसके पदᲂ कᳱ 

सं᭎या तथा अिंतम पद ᭄ात कᳱिजए। 
b) उस GP का सावᭅ अनुपात ᭄ात कᳱिजए िजसके अपᳯरिमत पदᲂ का योग 8 ह ैऔर िजसका दसूरा पद 2 

ह।ै (पाठ-6 दखेᱶ) 
a)  Find the 28th term from the end of the AP 6, 9, 12, 15, 18, ..…, 102. 
b)  How many 3-digits numbers are divisible by 7? (See Lesson-6) 

OR 
a) The sum of some terms of a GP is 315. Its first term is 5 and the common ratio is 2. 

Find the number of its terms and the last term. 
b) Find the common ratio of a GP whose sum of infinite terms is 8 and its second term is 

2. (See Lesson-6) 
 
3.  िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.   

a) यᳰद z1 = 2 + 8i और z2 = 1 – i, तो |z1/z2| ᭄ात कᳱिजए। 
b) मान लीिजए z = (2 - i)2 + [(7 - 4i)/(2 + i)] - 8, तो z को x + iy के 

ᱨप मᱶ इस ᮧकार ᳞Ღ कᳱिजए ᳰक x और y वा᭭तिवक सं᭎याएँ ह।ᱹ  (पाठ-8 दखेᱶ) 
अथवा 

a) असमानता: x2 + x - 28 < 2 को हल करᱶ। 
b) असमानता: −1<4x+2<10 को हल करᱶ।  (पाठ-9 दखेᱶ) 
a)  If z1 = 2 + 8i and z2 = 1 – i, then find |z1/z2|. 
b)  Suppose z = (2 – i)2 + [(7 – 4i)/(2 + i)] – 8, express z in the form of x + iy such that x 

and y are real numbers.   (See Lesson-8) 
OR 

a) Solve the inequality x2 + x - 28 < 2. 

b) −1<4x+2<10  (See Lesson-9) 
 

4. िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.   
  

a) MISSISSIPPI मᱶ अᭃरᲂ के ᳰकतने िभ᳖ ᮓमचय मᱶ चार I एक साथ नहᱭ आते ह?ᱹ 
b) 0 से 9 तक अकंᲂ का उपयोग करके ᳰकतने 5-अंकᳱय टलेीफोन नंबर बनाए जा सकते ह,ᱹ यᳰद ᮧ᭜येक 

सं᭎या 67 स ेशᱨु होती ह ैऔर कोई अकं भी एक से अिधक बार नहᱭ आता ह?ै 
 (पाठ-11 दखेᱶ) 
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अथवा 
a) 2 पᱧुषᲂ और 3 मिहलाᲐ के समूह स े3 ᳞िᲦयᲂ कᳱ एक सिमित गᳯठत कᳱ जानी ह।ै यह ᳰकतने तरीकᲂ 

से ᳰकया जा सकता है? इनमᱶ से ᳰकतनी सिमितयᲂ मᱶ 1 पᱧुष और 2 मिहलाए ँहᲂगी? 
b) 52 पᱫᲂ कᳱ एक ग᲻ी मᱶ से 5 पᱫᲂ के संयोजनᲂ कᳱ सं᭎या ᭄ात कᳱिजए, यᳰद ᮧ᭜येक सयंोजन मᱶ ठीक 

एक इᲥा ह।ै  (पाठ-11 दखेᱶ) 
 

a)  In how many of the distinct permutations of the letters in MISSISSIPPI do the four 
I’s not come together? 

b) How many 5-digit telephone numbers can be constructed using the digits 0 to 9, if 
each number starts with 67 and no digit appears more than once?  (See Lesson-11) 

 
OR 

a) A committee of 3 persons is to be constituted from a group of 2 men and 3 women. In 
how many ways can this be done? How many of these committees would consist of 1 
man and 2 women? 

b) Determine the number of 5 card combinations out of a deck of 52 cards, if there is 
exactly one ace in each combination. (See Lesson-11) 

5.  िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.   
  
 

 सभी n ∈ N के िलए गिणतीय आगमन के िस᳍ांत का ᮧयोग करके िन᳜िलिखत को िस᳍ कᳱिजए: 
a) 1.2 + 2.22 + 3.22 + … + n.2n = (n – 1) 2n+1 + 2 

b) n (n + 1) (n + 5) 3 का गुणज ह ै (पाठ-10 दखेᱶ) 
अथवा 

a) िव᭭तृत कᳱिजए (x/3 + 2/y)4 
b) 7103 को 25 स ेिवभािजत करने पर शेषफल ᭄ात कᳱिजए 
c) सं᭎या (13)10 के अंितम दो अकं ᭄ात कᳱिजए (पाठ-12 दखेᱶ) 

 
Prove the following by using the principle of mathematical induction for all n ∈ N: 
a) 1.2 + 2.22 + 3.22 + … + n.2n = (n – 1) 2n+1 + 2 
b) n (n + 1) (n + 5) is a multiple of 3  (See Lesson-10)  

OR 
a) Expand (x/3 + 2/y)4 
b) Find the remainder when 7103 is divided by 25 
c) Find the last two digits of the number (13)10  (See Lesson-12) 

 
6. िन᭥ निलिखत ᮧ᭫ नᲂ मᱶ स ेᳰकसी एक ᮧ᭫ न का उ᭜ तर दीिजए। 2 
 Answer any one out of the following questions.   
  

a) एक टायर बनाने वाली कंपनी ने टायर बदलने से पहल ेतय कᳱ गई दरूी का ᳯरकॉडᭅ रखा। तािलका 1000 
मामलᲂ के पᳯरणाम ᳰदखाती ह।ै 
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दरूी (ᳰक.मी. 
मᱶ) 

4000 स ेकम 4000 स े9000 9001 से 14000 14000 स ेअिधक  

आवृिᱫ 20 210 325 445 
 

यᳰद इस कंपनी स ेएक टायर खरीदा जाता ह,ै तो इसकᳱ ᭍या संभावना ह ैᳰक: 
(i)  4000 ᳰकमी कᳱ दरूी तय करने से पहल ेइसे बदलना होगा? 
(ii)  यह 9000 ᳰकमी से अिधक चलेगा? 
(iii)  4000 ᳰकमी और 14000 ᳰकमी के बीच दरूी तय करने के बाद इसे बदलने कᳱ आव᭫यकता होगी? 
b) दो िखलाड़ी, संगीत और रि᭫म, एक टेिनस मचै खलेते ह।ᱹ संगीत के मचै जीतने कᳱ संभावना 0.62 

ह।ै इसकᳱ ᭍या सभंावना ह ैᳰक रि᭫म मचै जीत जाएगी? 
c) एक िसᲥे को तीन बार उछाला जाता ह,ै िन᳜िलिखत घटनाᲐ पर िवचार करᱶ। 

P: 'कोई िचत नहᱭ ᳰदखता', 
Q: एक बार िचत ᳰदखता ह'ै और 
R: 'कम स ेकम दो बार िचत ᳰदखाई दतेा ह'ᱹ। 
जाचंᱶ ᳰक ᭍या व ेपर᭭पर अन᭠य और संपूणᭅ घटनाᲐ का एक सेट बनाते ह।ᱹ  

(पाठ-19 दखेᱶ) 
अथवा 

a) िन᳜िलिखत आंकडᲂ कᳱ सीमा और सीमा के गणुांक का पता लगाएं। 
(i) 63, 89, 98, 125, 79, 108, 117, 68 
(ii) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8 

 
b) यᳰद आंकडᲂ के एक सेट कᳱ सीमा और सबसे छोटा मान ᮓमशः 36.8 और 13.4 ह,ै तो सबसे बड़ा 

मान ᭄ात करᱶ। 
 
c) एक िशᭃक ने िव᳒ाᳶथयᲂ स ेᳯरकॉडᭅ नोटबुक के 60 पृ᳧  पूरे करने को कहा। आठ िव᳒ाᳶथयᲂ ने केवल 32, 

35, 37, 30, 33, 36, 35 और 37 पृ᳧  परेू ᳰकए ह।ᱹ उनके ᳇ारा अभी तक पणूᭅ ᳰकए जाने वाले 
पृ᳧ ᲂ का मानक िवचलन ᭄ात कᳱिजए।  
  (पाठ-17 दखेᱶ) 

 
a) A tyre manufacturing company kept a record of the distance covered before a tyre 

needed to be replaced. The table shows the results of 1000 cases. 
Distance 
(in km) 

Less than 
4000 

4000 to 
9000 

9001 to 
14000 

More than 
14000 

Frequency 20 210 325 445 
 
 

If a tyre is bought from this company, what is the probability that :  
(i)  it has to be substituted before 4000 km is covered?  
(ii)  it will last more than 9000 km?  
(iii)  it will need to be replaced after it has covered somewhere between 4000 km 

and 14000 km?  
 

  b)  Two players, Sangeet and Rashmi, play a tennis match. The probability of Sangeet 
winning the match is 0.62. What is the probability that Rashmi will win the match? 
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  c)  A coin is tossed three times, consider the following events.  
P: ‘No head appears’,  
Q: ‘Exactly one head appears’ and  
R: ‘At Least two heads appear’.  
Check whether they form a set of mutually exclusive and exhaustive events. 
 Chapter 19 

OR 
 
a) Find the range and coefficient of range of the following data. 

(i) 63, 89, 98, 125, 79, 108, 117, 68 
(ii) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8 

b) If the range and the smallest value of a set of data are 36.8 and 13.4 respectively, then 
find the largest value. 

c) A teacher asked the students to complete 60 pages of a record note book. Eight 
students have completed only 32, 35, 37, 30, 33, 36, 35 and 37 pages. Find the 
standard deviation of the pages yet to be completed by them. (See Lesson-17) 

 


